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Tom
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The sun
Answer:

We
Answer:

He
Answer:

They
Answer:

Al

his umbrella because it wasn't raining.

a lot of snow last winter.

to the beach yesterday.

to the park on Saturday.

my jacket because it was cold outside.

a bike ride yesterday.

all day.

a thunderstorm last night.

his hat because the sun was so hot.

a picnic in the park.




Answers

He his umbrella because it wasn't raining.
Answer: didn't take

We a lot of snow last winter.

Answer: had

She to the beach yesterday.

Answer: went

They to the park on Saturday.

Answer: went

I my jacket because it was cold outside.
Answer: wore

Tom a bike ride yesterday.

Answer: went on

The sun all day.

Answer: shone

We a thunderstorm last night.

Answer: had

He his hat because the sun was so hot.
Answer: wore

They a picnic in the park.

Answer: had



